EUROPEAN JOURNAL OF PURE AND APPLIED MATHEMATICS

Vol. 3, No. 6, 2010, 980-988 ISSN 1307-5543 – www.ejpam.com



Special Issue on Complex Analysis: Theory and Applications dedicated to Professor Hari M. Srivastava, on the occasion of his 70th birthday

Mathieu–type Series for the ℵ–function Occurring in Fokker–Planck Equation

Ram K. Saxena¹, Tibor K. Pogány^{2,*}

¹ Department of Mathematics and Statistics, Jain Narain Vyas University, Jodhpur–342004, India ² Faculty of Maritime Studies, University of Rijeka, Studentska 2, 51000 Rijeka, Croatia

Abstract. Closed form expressions are obtained for a family of convergent Mathieu type **a**–series and its alternating variant, whose terms contain an \aleph –function, which naturally occurs in certain problems associated with driftless Fokker–Planck equation with power law diffusion [25]. The \aleph –function is a generalization of the familiar *H*–function and the *I*–function. The results derived are of general character and provide an elegant generalization for the closed form expressions the Mathieu–type series associated with the *H*–function by Pogány [8], for Fox–Wright functions by Pogány and Srivastava [13] and for generalized hypergeometric $_pF_q$ and Meijer's *G*–function by Pogány and Tomovski [16], and others. For the \overline{H} –function [7, p. 216] the results are obtained very recently by Pogány and Saxena [11].

2000 Mathematics Subject Classifications: Primary 33C20, 33C60; Secondary 40G99, 44A20.

Key Words and Phrases: *I*-function, Dirichlet series, *H*-function, Fox–Wright function, Laplace integral representation for Dirichlet series, Mathieu **a**–series, Mellin–Barnes type integrals, Mittag–Leffler function

1. Introduction and Preliminaries

In order to unify and extend the results for the convergent Mathieu–type **a**–series and its alternating variants whose terms contain the familiar transcendental functions, such as Gauss hypergeometric function $_2F_1$, generalized hypergeometric function $_pF_q$, the Fox–Wright

http://www.ejpam.com

© 2010 EJPAM All rights reserved.

^{*}Corresponding author.

Email addresses: poganj@pfri.hr (T. Pogány), ram.saxena@yahoo.com (R. Saxena)

function, the Meijer's *G*-function and Fox's *H*-function published in a series of papers by Pogány [8, 9, 10], Pogány *et al.* [11, 12, 13, 14, 15, 16] and Srivastava and Tomovski [23].

Inequalities and integral representations for Mathieu–type series are discussed by Cerone and Lenard [1], Pogány and Tomovski [17], Srivastava and Tomovski [23] and others. The results obtained by the authors in this serve as the key formulæ for numerous potentially useful special functions of Science, Engineering and Technology scattered in the literature.

In the study of fractional driftless Fokker–Planck equations with power law diffusion coefficients, there arises naturally a special function, which is a special case of the \aleph , that is Aleph–function. The idea to introduce Aleph–function belongs to Südland *et al.* [24], however the notation and complete definition is presented here in the following manner in terms of the Mellin–Barnes type integrals [also see 25]:

$$\begin{aligned} \aleph[z] &= \aleph_{p_{i},q_{i},\tau_{i};r}^{m,n}[z] = \aleph_{p_{i},q_{i},\tau_{i};r}^{m,n}\left[z \middle| \begin{array}{c} (a_{j},A_{j})_{1,n},\dots,[\tau_{j}(a_{j},A_{j})]_{n+1,p_{i}} \\ (b_{j},B_{j})_{1,m},\dots,[\tau_{j}(b_{j},B_{j})]_{m+1,q_{i}} \end{array} \right] \\ &:= \frac{1}{2\pi\omega} \int_{\mathfrak{L}} \Omega_{p_{i},q_{i},\tau_{i};r}^{m,n}(s) z^{-s} \, \mathrm{d}s \end{aligned}$$
(1)

for all $z \neq 0$, where $\omega = \sqrt{-1}$ and

$$\Omega_{p_{i},q_{i},\tau_{i};r}^{m,n}(s) = \frac{\prod_{j=1}^{m} \Gamma(b_{j} + B_{j}s) \cdot \prod_{j=1}^{n} \Gamma(1 - a_{j} - A_{j}s)}{\sum_{i=1}^{r} \tau_{i} \prod_{j=n+1}^{p_{i}} \Gamma(a_{ji} + A_{ji}s) \cdot \prod_{j=m+1}^{q_{i}} \Gamma(1 - b_{ji} - B_{ji}s)},$$
(2)

The integration path $\mathscr{L} = \mathscr{L}_{i\gamma\infty}, \gamma \in \mathbb{R}$ extends from $\gamma - i\infty$ to $\gamma + i\infty$, and is such that the poles, assumed to be simple, of $\Gamma(1 - a_j - A_j s), j = \overline{1, n}$ do not coincide with the poles of $\Gamma(b_j + B_j s), j = \overline{1, m}$. The parameters p_i, q_i are non–negative integers satisfying $0 \le n \le p_i$, $1 \le m \le q_i, \tau_i > 0$ for $i = \overline{1, r}$. The parameters $A_j, B_j, A_{ji}, B_{ji} > 0$ and $a_j, b_j, A_{ji}, b_{ji} \in \mathbb{C}$. The empty product in (2) is interpreted as unity. The existence conditions for the defining integral (1) are given below:

$$\varphi_{\ell} > 0, \quad |\arg(z)| < \frac{\pi}{2} \varphi_{\ell} \qquad \ell = \overline{1, r};$$
(3)

$$\varphi_{\ell} \ge 0, \quad |\arg(z)| < \frac{\pi}{2} \varphi_{\ell} \quad \text{and} \quad \Re\{\zeta_{\ell}\} + 1 < 0,$$

$$\tag{4}$$

where

$$\varphi_{\ell} = \sum_{j=1}^{n} A_j + \sum_{j=1}^{m} B_j - \tau_{\ell} \Big(\sum_{j=n+1}^{p_{\ell}} A_{j\ell} + \sum_{j=m+1}^{q_{\ell}} B_{j\ell} \Big)$$
(5)

$$\zeta_{\ell} = \sum_{j=1}^{m} b_j - \sum_{j=1}^{n} a_j + \tau_{\ell} \Big(\sum_{j=m+1}^{q_{\ell}} b_{j\ell} - \sum_{j=n+1}^{p_{\ell}} a_{j\ell} \Big) + \frac{1}{2} \big(p_{\ell} - q_{\ell} \big) \qquad \ell = \overline{1, r}.$$
(6)

Remark 1. If the sum in the denominator of (2) can be simplified in terms of a polynomial in s, the factors of this polynomial can be expressed by a fraction of Euler's Gamma function leading to an H–function instead, see [25, p. 325].

Remark 2. It is observed that there is no historical name given to (1), compared to [24]. The Mellin transform of this function is the coefficient of z^{-s} in the integrand of (1). There are no references containing tables of \aleph -functions in the literature.

For $\tau_1 = \tau_2 = \ldots = \tau_r = 1$, in (1) the definition of following *I*-function [21] is recovered:

$$I[z] = \aleph_{p_i,q_i,1;r}^{m,n}[z] = \aleph_{p_i,q_i,1;r}^{m,n}\left[z \middle| \begin{array}{c} (a_j,A_j)_{1,n},\dots,(a_j,A_j)_{n+1,p_i} \\ (b_j,B_j)_{1,m},\dots,(b_j,B_j)_{m+1,q_i} \end{array} \right]$$
$$:= \frac{1}{2\pi\omega} \int_{\mathfrak{L}} \Omega_{p_i,q_i,1;r}^{m,n}(s) z^{-s} \, \mathrm{d}s, \tag{7}$$

where $\Omega_{p_i,q_i,1;r}^{m,n}(s)$ is defined in (2). The existence conditions for the integral in (7) are the same as given in (3)–(6) with $\tau_i = 1, i = \overline{1, r}$.

If we further set r = 1, then (7) reduces to the familiar *H*-function given e.g. in the monograph [7]:

$$H_{p,q}^{m,n}[z] = \aleph_{p_i,q_i,1;1}^{m,n}[z] = \aleph_{p_i,q_i,\tau_i;1}^{m,n}\left[z \middle| \begin{array}{c} (a_p,A_p) \\ (b_q,B_q) \end{array}\right] := \frac{1}{2\pi\omega} \int_{\mathfrak{L}} \Omega_{p_i,q_i,1;1}^{m,n}(s) z^{-s} \, \mathrm{d}s \,, \qquad (8)$$

where the kernel $\Omega_{p_i,q_i,1;1}^{m,n}(s)$ is given in (2), which itself is a generalization of Meijer's *G*-function [2, p. 207] to which it reduces for $A_1 = \ldots = A_p = 1 = B_1 = \ldots = B_q$. A detailed and comprehensive account of the *H*-function is available from the monographs written by Mathai and Saxena [6], Srivastava *et al.* [22], Kilbas and Saigo [4] and Mathai *et al.* [7].

In what follows, the Aleph function will be represented by the contracted notations $\aleph_{p_i,q_i,\tau_i;r}^{m,n}[z]$ or $\aleph[z]$.

Now, consider the Mathieu–type **a**–series $\Theta_{\lambda,\mu}$ and its alternating variant $\widetilde{\Theta}_{\lambda,\mu}$, defined by

$$\Theta_{\lambda,\mu} \Big\{ \aleph; \mathbf{c}, x \Big\} := \sum_{j=1}^{\infty} \frac{\aleph_{p_i+1, q_i, \tau_i; r}^{m, n+1} \Big[\frac{x}{c_j} \Big| \begin{array}{c} (\alpha, \beta), \ (a_j, A_j)_{1, n}, \ (a_{ji}, A_{ji})_{n+1, p_i} \\ (b_j, B_j)_{1, m}, \ (b_{ji}, B_{ji})_{m+1, q_i} \end{array} \Big]}{c_j^{\lambda} (c_j + x)^{\mu}}, \tag{9}$$

$$\widetilde{\Theta}_{\lambda,\mu}\left\{\aleph;\mathbf{c},x\right\} := \sum_{j=1}^{\infty} \frac{(-1)^{j-1} \aleph_{p_i+1,q_i,\tau_i;r} \left[\frac{x}{c_j} \middle| \begin{array}{c} (\alpha,\beta), (a_j,A_j)_{1,n}, (a_{ji},A_{ji})_{n+1,p_i} \\ (b_j,B_j)_{1,m}, (b_{ji},B_{ji})_{m+1,q_i} \end{array} \right]}{c_j^{\lambda} (c_j+x)^{\mu}}$$
(10)

where the convention is followed that the positive sequence $\mathbf{c} = (c_n)_{n \in \mathbb{N}}$ monotonously increases and tends to infinity; equivalently

$$\mathbf{c} : 0 < c_1 < c_2 < \ldots < c_n \uparrow \infty. \tag{11}$$

2. Integral Representations of
$$\Theta_{\lambda,\mu} \{ \aleph; \mathbf{c}, x \}$$
 and $\widetilde{\Theta}_{\lambda,\mu} \{ \aleph; \mathbf{c}, x \}$

The Laplace transform of the ℵ–function can be established in the following form

$$\int_{0}^{\infty} x^{\lambda-1} e^{-sx} \aleph_{p_{i},q_{i},\tau_{i};r}^{m,n} [\eta x^{\rho}] dx$$

= $s^{-\lambda} \aleph_{p_{i}+1,q_{i},\tau_{i};r}^{m,n+1} \left[\frac{\eta}{s^{\rho}} \right| (1-\lambda,\rho), (a_{j},A_{j})_{1,n}, [\tau_{i}(a_{ji},A_{ji})]_{n+1,p_{i}}], \quad (12)$

where $\lambda, s, \eta \in \mathbb{C}$; $\Re\{s\} > 0, \rho > 0, \tau_i > 0, i = \overline{1, r}$, and

$$\Re\{\lambda\} + \rho \min_{1 \le j \le m} \frac{\Re\{b_j\}}{B_j} > 0, \qquad |\arg(\eta)| < \frac{\pi}{2} \min_{1 \le \ell \le r} \left(\zeta_\ell\right); \tag{13}$$

the parameter ζ_{ℓ} is defined in (6).

The formula (12) can be easily established with the help of the definition (2) of \aleph -function and using gamma function formula

$$\Gamma(\mu)\zeta^{-\mu} = \int_0^\infty x^{\mu-1} e^{-\zeta x} dx \qquad \min\left(\mathfrak{N}\{\mu\}, \mathfrak{N}\{\zeta\}\right) > 0.$$

Theorem 1. Let $\lambda > 0, \mu > 0, x > 0, \alpha = 1 - \lambda, \beta = \rho$ and let the sequence **c** satisfies (11). Then there hold the following results:

$$\Theta_{\lambda,\mu}\left\{\aleph; \mathbf{c}, x\right\} = \mathfrak{I}_{\mathbf{c}}^{\aleph}(\lambda+1,\mu) + \mu \mathfrak{I}_{\mathbf{c}}^{\aleph}(\lambda,\mu+1)$$
(14)

$$\widetilde{\Theta}_{\lambda,\mu}\left\{\aleph;\mathbf{c},x\right\} = \widetilde{\mathfrak{I}}_{\mathbf{c}}^{\aleph}(\lambda+1,\mu) + \mu \widetilde{\mathfrak{I}}_{\mathbf{c}}^{\aleph}(\lambda,\mu+1), \qquad (15)$$

where

$$\mathfrak{I}_{\mathbf{c}}^{\aleph}(u,v) := \int_{c_1}^{\infty} \frac{\left[c^{-1}(t)\right]}{t^u(t+x)^v} \,\aleph_{p_i+1,q_i,\tau_i;r}^{m,n+1}\left[\frac{x}{t};u\right] \mathrm{d}t\,,\tag{16}$$

$$\widetilde{\mathfrak{I}}_{\mathbf{c}}^{\aleph}(u,v) := \int_{c_1}^{\infty} \frac{\sin^2\left(\frac{\pi}{2}[c^{-1}(t)]\right)}{t^u(t+x)^v} \,\aleph_{p_i+1,q_i,\tau_i;r}^{m,n+1}\left[\frac{x}{t};u\right] \mathrm{d}t,\tag{17}$$

and

$$\aleph_{p_i+1,q_i,\tau_i;r}^{m,n+1}\left[\frac{x}{t};u\right] := \aleph_{p_i+1,q_i,\tau_i;r}^{m,n+1}\left[\frac{x}{t}\right| \begin{array}{c} (1-u,1), (a_j,A_j)_{1,n}, [\tau_i(a_{ji},A_{ji})]_{n+1,p_i} \\ (b_j,B_j)_{1,m}, [\tau_i(b_{ji},B_{ji})]_{m+1,q_i} \end{array} \right].$$

where $c: \mathbb{R}_+ \mapsto \mathbb{R}_+$ is an increasing function such that $c(x)|_{x\in\mathbb{N}} = \mathbf{c}, c^{-1}(x)$ is the inverse of $c(x), [c^{-1}(x)]$ stands for the integer part of the quantity $c^{-1}(x)$.

Proof. Taking $\zeta = c_n + x$ in (14), setting $s = c_j$; $\rho = 1$, $\eta = x$ and inserting $\alpha = 1 - \lambda$, $\beta = 1$ in (12), we find that

$$\Theta_{\lambda,\mu} \left\{ \aleph; \mathbf{c}, x \right\} = \sum_{j=1}^{\infty} \frac{\aleph_{p_i+1,q_i,\tau_i;r}^{m,n+1} \left[\frac{x}{c_j} \right| \frac{(1-\lambda,1), (a_j,A_j)_{1,n}, [\tau_i(a_{ji},A_{ji})]_{n+1,p_i}}{(b_j,B_j)_{1,m}, [\tau_i(b_{ji},B_{ji})]_{m+1,q_i}} \right]} \\ = \frac{1}{\Gamma(\mu)} \sum_{j=1}^{\infty} \int_0^{\infty} s^{\lambda-1} \mathrm{e}^{-c_j s} \aleph_{p_i,q_i,\tau_i;r}^{m,n} [xs] \, \mathrm{d}s \int_0^{\infty} t^{\mu-1} \mathrm{e}^{-(c_j+x)t} \, \mathrm{d}t \\ = \frac{1}{\Gamma(\mu)} \int_0^{\infty} \int_0^{\infty} \left(\sum_{j=1}^{\infty} \mathrm{e}^{-c_j(s+t)} \right) s^{\lambda-1} t^{\mu-1} \mathrm{e}^{-xt} \aleph_{p_i,q_i,\tau_i;r}^{m,n} [xs] \, \mathrm{d}s \, \mathrm{d}t \,,$$
(18)

where, by convergence reasons $\mu > 0$ is already assumed. Following the lines of the use of Dirichlet series technique used in earlier papers by Pogány and coworkers [10, 11, 12, 13, 14, 15, 16], by means of (12) we conclude

$$\Theta_{\lambda,\mu} \{\aleph; \mathbf{c}, x\} = \frac{1}{\Gamma(\mu)} \int_0^\infty \int_0^\infty \int_{c_1}^\infty s^\lambda t^{\mu-1} \mathrm{e}^{-(y+x)t-ys} \aleph_{p_i,q_i,\tau_i;r}^{m,n} [xs] [c^{-1}(y)] \mathrm{d}s \mathrm{d}t \mathrm{d}y$$
$$+ \frac{1}{\Gamma(\mu)} \int_0^\infty \int_0^\infty \int_{c_1}^\infty s^{\lambda-1} t^\mu \mathrm{e}^{-(y+x)t-ys} \aleph_{p_i,q_i,\tau_i;r}^{m,n} [xs] [c^{-1}(y)] \mathrm{d}s \mathrm{d}t \mathrm{d}y := J_s + J_t.$$

Introducing the auxiliary integral

$$\mathfrak{I}_{\mathbf{c}}^{\aleph}(u,v) := \int_{c_1}^{\infty} \frac{\left[c^{-1}(t)\right]}{t^u(t+x)^v} \aleph_{p_i+1,q_i,\tau_i;r}^{m,n+1}\left[\frac{x}{t};u\right] \mathrm{d}t,$$

it readily follows that

$$J_s = \mathfrak{I}_{\mathbf{c}}^{\aleph}(\lambda+1,\mu)$$
 and $J_t = \mu \cdot \mathfrak{I}_{\mathbf{c}}^{\aleph}(\lambda,\mu+1).$

This finishes the proof of (16).

The proof of (17) is similar to that of (16), if we employ the definition of the new alternating inner Dirichlet series $\tilde{\mathscr{D}}_{\mathbf{c}}(\cdot)$ [14, p. 77, Section 4] given below:

$$\widetilde{\mathscr{D}}_{\mathbf{c}}(s+t) = \sum_{j=1}^{\infty} (-1)^{j-1} \mathrm{e}^{-c_j(s+t)} = (s+t) \int_{c_1}^{\infty} \mathrm{e}^{-(s+t)x} \sin^2\left(\frac{\pi}{2} \left[c^{-1}(x)\right]\right) \mathrm{d}x \,. \tag{19}$$

The application of (19) completes the proof of (17).

3. Special Cases

As Aleph function is the most generalized special function, numerous special cases with potentially useful transcendental functions, such Mittag–Leffler functions, Bessel functions,

Whittaker functions, hypergeometric functions, generalized hypergeoemtric ${}_{p}F_{q}$ function, Meijer's *G*-function, Fox–Wright Ψ function and Fox *H*–function and their special cases can be deduced by making suitable changes in the parameters. But, for the sake of brevity, some interesting special cases of Theorem 1 are given below.

Corollary 1. [12, Theorem] Let $\lambda, \mu, x > 0, \alpha = 1 - \lambda, \beta = \rho, \tau_1 = ... = \tau_r = 1$, and let the sequence **c** satisfies (11). Then the Aleph function reduces to an *I*-function and there holds the following result

$$\Theta_{\lambda,\mu}\left\{I_{p_i+1,q_i,r}^{m,n+1};\mathbf{c},x\right\} = \mathfrak{I}_{\mathbf{c}}^{I}(\lambda+1,\mu) + \mu\mathfrak{I}_{\mathbf{c}}^{I}(\lambda,\mu+1)$$
(20)

$$\widetilde{\Theta}_{\lambda,\mu}\left\{I_{p_i+1,q_i,r}^{m,n+1};\mathbf{c},x\right\} = \widetilde{\jmath}_{\mathbf{c}}^{I}(\lambda+1,\mu) + \mu \widetilde{\jmath}_{\mathbf{c}}^{I}(\lambda,\mu+1), \qquad (21)$$

where

$$\mathfrak{I}_{\mathbf{c}}^{I}(u,v) := \int_{c_{1}}^{\infty} \frac{\left[c^{-1}(t)\right]}{t^{u}(t+x)^{v}} I_{p_{i}+1,q_{i},r}^{m,n+1} \left[\frac{x}{t};u\right] \mathrm{d}t, \qquad (22)$$

$$\widetilde{\Im}_{\mathbf{c}}^{I}(u,v) := \int_{c_{1}}^{\infty} \frac{\sin^{2}\left(\frac{\pi}{2}[c^{-1}(t)]\right)}{t^{u}(t+x)^{v}} I_{p_{i}+1,q_{i},r}^{m,n+1}\left[\frac{x}{t};u\right] \mathrm{d}t,$$
(23)

with

$$I_{p_{i}+1,q_{i},r}^{m,n+1}\left[\frac{x}{t};u\right] := \aleph_{p_{i}+1,q_{i},1;r}\left[\frac{x}{t}\right| \begin{array}{c} (1-u,1), \ (a_{j},A_{j})_{1,n}, \ (a_{ji},A_{ji})_{n+1,p_{i}} \\ (b_{j},B_{j})_{1,m}, \ (b_{ji},B_{ji})_{m+1,q_{i}} \end{array} \right]$$

Here c remains the same as above in Theorem 1.

When r = 1, $\tau_1 = 1$, the Aleph function reduces to Fox's *H*–function and Theorem 1 gives rise to the following result given by Pogány [10, Theorem].

Corollary 2. Let $\lambda, \mu, r > 0, \alpha = 1 - \lambda, \beta = \rho = 1$ and let the sequence **c** satisfies the condition given in (11). Then we have

$$\Theta_{\lambda,\mu}\left\{H_{p+1,q}^{m,n+1};\mathbf{c},x\right\} = \mathfrak{I}_{\mathbf{c}}^{H}(\lambda+1,\mu) + \mu\mathfrak{I}_{\mathbf{c}}^{H}(\lambda,\mu+1)$$
(24)

$$\widetilde{\Theta}_{\lambda,\mu}\left\{H_{p+1,q}^{m,n+1};\mathbf{c},x\right\} = \widetilde{\mathcal{I}}_{\mathbf{c}}^{H}(\lambda+1,\mu) + \mu \widetilde{\mathcal{I}}_{\mathbf{c}}^{H}(\lambda,\mu+1),$$
(25)

where

$$\mathfrak{I}_{\mathbf{c}}^{H}(u,v) := \int_{c_{1}}^{\infty} \frac{\left[c^{-1}(t)\right]}{t^{u}(t+x)^{v}} H_{p+1,q}^{m,n+1} \left[\frac{x}{t} \middle| \begin{array}{c} (1-u,1), (a_{j},A_{j})_{\overline{1,n}}, (a_{j},A_{j})_{\overline{n+1,p}} \\ (b_{j},B_{j})_{\overline{1,m}}, (b_{j},B_{j})_{\overline{m+1,q}} \end{array} \right] \mathrm{d}t$$
(26)

$$\widetilde{\mathfrak{I}}_{\mathbf{c}}^{H}(u,v) := \int_{c_{1}}^{\infty} \frac{\sin^{2}\left(\frac{\pi}{2}[c^{-1}(t)]\right)}{t^{u}(t+x)^{v}} H_{p+1,q}^{m,n+1} \left[\frac{x}{t} \middle| \begin{pmatrix} (1-u,1), (a_{j},A_{j})_{\overline{1,n}}, (a_{j},A_{j})_{\overline{n+1,p}} \\ (b_{j},B_{j})_{\overline{1,m}}, (b_{j},B_{j})_{\overline{m+1,q}} \right] \mathrm{d}t.$$
(27)

The Fox–Wright function $_{p}\Psi_{q}$ is defined [7, p. 23] by the power series in the form

$${}_{p}\Psi_{q}\left[\begin{array}{c}(a_{p},\alpha_{p})\\(b_{q},\beta_{q})\end{array}\middle|z\right] := \sum_{n=0}^{\infty} \frac{\prod_{j=1}^{p} \Gamma(a_{j}+A_{j}n)}{\prod_{j=1}^{q} \Gamma(b_{j}+B_{j}n)} \frac{z^{n}}{n!}.$$
(28)

with $a_j, b_j \in \mathbb{C}, A_j, B_j \in \mathbb{R}, A_i \cdot B_j \neq 0$ $(i = \overline{1, p}, j = \overline{1, q})$ and $\sum_{j=1}^q B_j - \sum_{j=1}^p A_j > -1$. Now, employing the identity [7, p. 25]

$${}_{p}\Psi_{q}\left[\begin{array}{c}(a_{p},A_{p})\\(b_{q},B_{q})\end{array}\right|-z\right] = H_{p,q+1}^{1,p}\left[z\middle|\begin{array}{c}(1-a_{p},A_{p})\\(0,1),(1-b_{q},B_{q})\end{array}\right],$$
(29)

pointing out that we can express it via the Aleph function as

$${}_{p}\Psi_{q}\left[\begin{array}{c}(a_{p},A_{p})\\(b_{q},B_{q})\end{array}\right|-z\right]=\aleph_{p,q+1,1;1}^{1,p}\left[z\middle|\begin{array}{c}(1-a_{p},A_{p})\\(0,1),(1-b_{q},B_{q})\end{array}\right],$$

it is not difficult to deduce the corresponding results for Fox-Wright function.

Let us define

$$\Theta_{\lambda,\mu}\{_{p+1}\Psi_q; \mathbf{c}, x\} := \sum_{j=1}^{\infty} \frac{{}^{p+1}\Psi_q \left[\begin{array}{c} (\alpha, \beta), (a_p, A_p) \\ (b_q, B_q) \end{array} \right| - \frac{x}{c_j} \right]}{c_j^{\lambda} (c_j + x)^{\mu}}, \tag{30}$$

and

$$\widetilde{\Theta}_{\lambda,\mu}\left\{_{p+1}\Psi_{q};\mathbf{c},x\right\} := \sum_{j=1}^{\infty} \frac{(-1)^{j-1}{}_{p+1}\Psi_{q}\left[\begin{array}{c}(\alpha,\beta),(a_{p},A_{p})\\(b_{q},B_{q})\end{array}\right| - \frac{x}{c_{j}}\right]}{c_{j}^{\lambda}(c_{j}+x)^{\mu}}.$$
(31)

We then obtain the following

Corollary 3. Let $\lambda \notin \mathbb{N}, \mu > 0, r > 0, (\alpha, \beta) = (1 - \lambda, 1), (b_q, \beta_q) = (1, 1)$ and let the sequence **c** satisfies (11). Then we have

$$\Theta_{\lambda,\mu}\left\{_{p+1}\Psi_q; \mathbf{c}, r\right\} = \mathfrak{I}_{\mathbf{c}}^{\Psi}(\lambda+1,\mu) + \mu \mathfrak{I}_{\mathbf{c}}^{\Psi}(\lambda,\mu+1)$$
(32)

$$\widetilde{\Theta}_{\lambda,\mu}\left\{_{p+1}\Psi_{q};\mathbf{c},r\right\} = \widetilde{\mathfrak{I}}_{\mathbf{c}}^{\Psi}(\lambda+1,\mu) + \mu \widetilde{\mathfrak{I}}_{\mathbf{c}}^{\Psi}(\lambda,\mu+1),$$
(33)

where

$$\mathfrak{I}_{\mathbf{c}}^{\Psi}(u,v) := \int_{c_1}^{\infty} \frac{\left[c^{-1}(t)\right]}{t^u(t+x)^v} \cdot_{p+1} \Psi_q \left[\begin{array}{c} (1-u,1), (a_p,A_p)\\ (1,1), (b_{q-1},B_{q-1}) \end{array}\right] - \frac{x}{t} dt$$
(34)

and

$$\widetilde{\mathfrak{I}}_{\mathbf{c}}^{\Psi}(u,v) := \int_{c_1}^{\infty} \frac{\sin^2\left(\frac{\pi}{2}[c^{-1}(t)]\right)}{t^u(t+x)^v} \cdot {}_{p+1}\Psi_q \begin{bmatrix} (1-u,1), (a_p,A_p)\\(1,1), (b_{q-1},B_{q-1}) \end{bmatrix} - \frac{x}{t} dt \,. \tag{35}$$

Remark 3. Finally, it is interesting to observe that by virtue of the relation

$$E_{\alpha,\beta}(z) = H_{1,2}^{1,1} \left[-z \middle| \begin{array}{c} (0,1) \\ (0,1), (1-\beta,\alpha) \end{array} \right] = \aleph_{1,2,1;1}^{1,1} \left[-z \middle| \begin{array}{c} (0,1) \\ (0,1), (1-\beta,\alpha) \end{array} \right]$$

where $E_{\alpha,\beta}(z)$ is the Mittag–Leffler function [Chapter 18 3] and [p. 80 5], defined by

$$E_{\alpha,\beta}(z) = \sum_{n=1}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)},$$

where $\alpha, \beta \in \mathbb{C}$; $\Re\{\alpha\}, \Re\{\beta\} > 0$, the similar type of results for the Mittag–Leffler function can be deduced from Corollary 2.

986

References

- [1] P Cerone and CT Lenard. On integral forms of generalized Mathieu series. *JIPAM J. Inequal. Pure Appl. Math.* **4**(5) Art. 100: 1–11, 2003.
- [2] A Erdélyi, W Magnus, F Oberhettinger and FG Tricomi. *Higher Transcendental Functions*. Vol. **1**, McGraw–Hill, New York, 1953.
- [3] A Erdélyi, W Magnus, F Oberhettinger and FG Tricomi. *Higher Transcendental Functions*. Vol. **3**, McGraw–Hill, New York, 1955.
- [4] AA Kilbas and M Saigo. *H–Transforms: Theory and Application*. Chapman & Hall/CRC Press, Boca Raton, London, New York, 2004.
- [5] AM Mathai and HJ Haubold. *Special Functions for Applied Scientists*. Springer, New York, 2008.
- [6] AM Mathai and RK Saxena. *The H-function with Applications in Statistics and Other Disciplines*. Wiley Eastern, New Delhi & Wiley Halsted, New York, 1978.
- [7] AM Mathai, RK Saxena and HJ Haubold. *The H-function: Theory and Applications*. Springer, New York, 2010.
- [8] TK Pogány. Integral representation of a series which includes the Mathieu **a**–series. *J. Math. Anal. Appl.* **296**: 309–313, 2004.
- [9] TK Pogány. Integral representation of Mathieu (\mathbf{a}, λ) series. Integral Transforms Spec. Funct. **16**(8): 685–689, 2005.
- [10] TK Pogány. Integral expressions of Mathieu-type series whose terms contain Fox's Hfunction. Appl. Math. Letters 20: 764–769, 2007.
- [11] TK Pogány and RK Saxena. Some Mathieu-type series for the generalized *H*-function associated with a certain class of Feynman integrals. *Integral Transforms Spec. Funct.* 2010 (in press). DOI: 10.1080/10652461003675703.
- [12] TK Pogány and RK Saxena. Some Mathieu–type series for the *I*–function occuring in Fokker–Planck equation. (in course of publication).
- [13] TK Pogány and HM Srivastava. Some Mathieu–type series asociated with the Fox–Wright function. *Comput. Math. Appl.* **57**(1): 127–140, 2009.
- [14] TK Pogány, HM Srivastava and Ž Tomovski. Some families of Mathieu a-series and alternating Mathieu a-series. Appl. Math. Comput. 173(1): 69–108, 2006.
- [15] TK Pogány and Ž Tomovski. On multiple generalized Mathieu series. *Integral Tranforms Spec. Funct.* **17**(4): 285–293, 2006.

- [16] TK Pogány and Ž Tomovski. On Mathieu–type series which terms contain generalized hypergeometric function ${}_{p}F_{q}$ and Meijer's *G*–function. *Math. Comput. Modelling* **47**(9-10): 952–969, 2008.
- [17] TK Pogány and Ž Tomovski. Bounds improvement for alternating Mathieu type series. J. *Math. Inequal.* **4**(3), 2010 (2010).
- [18] RK Saxena and R Kumar. A basic analogue of generalized *H*-function. *Matematiche* (*Catania*) **50**: 263–271, 1995.
- [19] RK Saxena and Y Singh. Integral operators involving generalized *H*-function. *Indian J. Math.* 35: 177–188, 1993.
- [20] RK Saxena, J Ram and AR Chauhan. Fractional integration of the product of the *I*–function and Appell function F_3 . *Vijnana Parishad Anusandhan Patrika* **45**(4): 345–371, 2002.
- [21] VP Saxena. Formal solution of certain new pair of dual integral equations involving *H*–functions. *Proc. Nat. Acad. Sci. India Sect A* **51**: 366–375, 1982.
- [22] HM Srivastava, KC Gupta and SP Goyal. *The H–Functions of One and Two Variables with Applications*. South Asian Publishers, New Delhi, 1982.
- [23] HM Srivastava and Ž Tomovski. Some problems and solutions involving Mathieu's series and its generalizations. *JIPAM J. Inequal. Pure Appl. Math.* **5**(2), Art. 45: 1–13, 2004.
- [24] N Südland, B Baumann and TF Nonnenmacher. Open problem: who knows about the Aleph (N)-functions?. *Fract. Calc. Appl. Anal.* 1(4): 401–402, 1998.
- [25] N Südland, B Baumann and TF Nonnenmacher. Fractional driftless Fokker–Planck equation with power law diffusion coefficients. In V. G. Gangha, E. W. Mayr, W. G. Vorozhtsov, editors, *Computer Algebra in Scientific Computing* (CASC Konstanz 2001), pages 513– 525, Springer, Berlin, 2001.